
Name____________________________________Basic Matrix Operations Formative 

Given    A=[
1 4 −7
2 0 3
−3 5 −1

]     B=[
7 3 −2
−4 5 0

]      C=[
10
−6
−5

]      D=[
6 −10 −7
−3 4 −5

]      E=[6 −7 −2]   F=[
0 7 5
3 −4 0
0 1 −6

] 

 

Use the matrices above to find the following IF NOT possible state why not  SHOW YOUR WORK 

1. −3𝐶 
 
 
 
 
 
 
 
 

2. 𝐷 − 2𝐵 

3. BA 
 
 
 
 
 
 
 
 
 
 
 

4. AB 

5. (𝐵 − 𝐷)𝐶 
 
 
 
 
 
 
 
 
 
 
 
 

6. 2𝐴 + 3𝐹 

7. FCE 
 
 
 
 
 
 
 
 
 
 

 

 



Name____________________________________Basic Matrix Operations Formative 

Given    A=[
2 5 −8
5 0 7
−3 5 −1

]     B=[
9 2 −4
−6 8 0

]      C=[
11
−7
−4

]      D=[
6 −10 −7
−6 8 −10

]      E=[6 −7 −2]   F=[
0 8 4
2 −6 0
0 2 −6

] 

 

Use the matrices above to find the following IF NOT possible state why not  SHOW YOUR WORK 

1. −4𝐵 
 
 
 
 
 
 
 
 

2. 𝐵 − 2𝐷 

3. BA 
 
 
 
 
 
 
 
 
 
 
 

4. AB 

5. (𝐵 − 𝐷)𝐶 
 
 
 
 
 
 
 
 
 
 
 
 

6. 2𝐴 + 3𝐹 

7. FCE 
 
 
 
 
 
 
 
 
 
 

 

 



Name____________________________________Basic Matrix Operations Formative 

Given    A=[
2 5 −8
5 0 7
−5 9 −2

]     B=[
10 1 −5
−6 1 0

]      C=[
12
−8
−5

]      D=[
8 −12 −7
−2 8 −10

]      E=[6 −7 −2]   F=[
0 8 4
9 −7 0
0 2 −6

] 

 

Use the matrices above to find the following IF NOT possible state why not  SHOW YOUR WORK 

1. −4𝐵 
 
 
 
 
 
 
 
 

2. 𝐵 − 2𝐷 

3. BA 
 
 
 
 
 
 
 
 
 
 
 

4. AB 

5. (𝐵 − 𝐷)𝐶 
 
 
 
 
 
 
 
 
 
 
 
 

6. 2𝐴 + 3𝐹 

7. FCE 
 
 
 
 
 
 
 
 
 
 

 

 



Name____________________________________Basic Matrix Operations Formative 

Given    A=[
8 5 −8
1 0 7
−2 9 −2

]     B=[
15 1 −5
−2 1 0

]      C=[
2
−1
−6

]      D=[
8 −10 −7
−2 9 −10

]      E=[6 −9 −2]   F=[
0 8 2
9 −7 0
0 2 −5

] 

 

Use the matrices above to find the following IF NOT possible state why not  SHOW YOUR WORK 

1. −4𝐵 
 
 
 
 
 
 
 
 

2. 𝐵 − 2𝐷 

3. BA 
 
 
 
 
 
 
 
 
 
 
 

4. AB 

5. (𝐵 − 𝐷)𝐶 
 
 
 
 
 
 
 
 
 
 
 
 

6. 2𝐴 + 3𝐹 

7. FCE 
 
 
 
 
 
 
 
 
 
 

 

 


